 ection : Answer the following questions by selecting the most appropriate o
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1. Which of the following laws is nof
related to heredity ?
1) Law of Similarity
2) Law of Variation
3) Law of Regression
4) Law of Progression

2. Which of the following is not a
performance test of intelligence ?
1) Koh's Block Design Test
2) Alexander's Pass Along Test

*3) Saguine Form Board Test
4) Stanford-Binet Test

3. Which of the following is not an
objective type question ?
1) Matching questions
.2) Analytical questions
3) Multiple choice questions
4) Blank space questions

4. According to Moral Development
theory of Piaget, adolescent period

1S
1) Stage of moral realism

.2) Stage of morality constraint
3) Stage of heteronomous morality
4) Stage of autonomous morality

5. Which of the following
characteristics is not related to the

concrete operational stage of the
Cognitive Development theory
propounded by Piaget ?

1) Reversibility

2) Serialization %
3) Animism | _

4) Conservation

afain
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6. Yote Prerael @ awd d PO

1) FiE ot & e faaga @
el Bl '

2) Yafyes R fadwanet & 99
4 foga 2l

3) gl =T o7gH el
il ST FLAl &l

4) s PO Fad
F & IR et B

Arm g = 3 fow dE-A
T g5 @wE 787 erm ?

1) 9 § Sfeq
2) 4 H T =
3) U™Y ¥ WAy %
4) 9 q I

9. HiaiEd # § #M-71 o &1 &

e 78§ 7

1) [OFE AERET @ g @
AR B

2) T9HETH Y qEHT 2 2

3) EWWWW@@WW

el
$) [TFE WENE @ R e
el 2
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Which statement is not correct iy
context of indiyidual differences 7

1) Two pe@ns are not exactly
same. <«

2) Individudl) differences arq
deviation ' in regards 4
characteristics.

3) Individual differenceg
distinguish individuals in thejr
totality.

*4) Individual differences are the
sole result of heredity.

When the lesson to be learned by
a child is lepg and difficult and

requires a Pt of understanding,
then which r@thod of learning will
be appropriate ?
1) Spaced r@thod

«2) Whole method
3) Massed method
4) Incidental method

8. Which teaching maxim is not

beneficial for the learning
disabled children ?
1) Simple to complex
2) Abstract to concrete
+3) Direct to indirect

4) Known tonnknown
QN

9. Which of t}'gi following 1s nof a

principle of development ?
1) Developﬁent 1s the product of
heredity and environment.
.2) Developmental pattern is
predictable.
3) Development follows linear
path.

4) Development proceeds from
general to specific.

o -

10. 4 TG F AR T 3
Hsndlﬁ%:ﬁtﬁmﬁmﬁzs@m@m%
FITH Bl oA HE@L Bl ¥ ?

1) diameeE
2) =t
3) o

4) Tl

11. FefoRea # 4 S9-9 Soiaen
g [ # Th e g
78 & 7
1) AE-fid & @Y |

Hed
2) AT HHITH TeA
3) UEdM & W
4) dR-gaT

12. FgaE B s [GEE HEE
-l Sl URERE  AfaEdl @
@ § gat 78T € 7
(a) AfFERE Ud (G
(b) 378 STadGdDd Had
(c) THIfTH gaedl g Tl

(d) G  oFEd IR daiRT
CIBCAR
&l e H g FIT

R a0
1) (a) W (b) o
2) (b) T (c) %
3) () W (d)
4) (c) W@ (d)
13. o[y Ud RHad Sdl AERE ARt
3 T GrEl Hea ©

1) STHCTHE HET
2) WM HIEH

3) GaMIeTd dIEHT
4) WEHS HIGA

[ Level-2 /1207 ]
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10. According to which psychologist,
the role of sdélal and cultural factors

are importéﬁt in the cogntuve
developmen@f children ?

1) Vygotskﬁ

2) Piaget

-3) Bruner

4) Hull

11. Which of the following is not a
common characteristic of social

development in adolescence ?
1) Harmonious relationship with

parents
2) New social grouping
3) Search f@identity
.4) Hero—woghip

12. Which stageg of Kohlberg's moral
developmengtheory are not related
to level of conventional morality ?

(a) Individualism and exchange
(b) Good interpersonal relations
(c) Maintaining the social order
(d) Social contracts and individual
rights

Choose the correct code :
Code :

- 1) (a) & (b)
2) (b) & (c%
3) (a) & (d)i
8 (©) & (A

)
13. Learning g through mental
processes like attention and

reflection is called :
1) Imitative learning
2) Motor learning

v 3) Cognitive learning

4) Affective learning
rqrie)
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14, gEfm ofrm & g A -
rer-aiftrm oty REiE @ I
qatias I9art & 7
1) & 99
2) %
3) T3
4) AMYIE JaaH

15. Yadila & orgduw R § @D
@ FEW SEH B gy aded A
PH-T FRH qATHe @Y d e
T& FHT & 7 %

) S & st @ S

g 7 N
1) fﬁ%wsm-frﬁasgq

2) THIGER F ¢ & -
) &z Zﬁ'“"[:}[-j:IT B HHES
N

4) 9§ Hidfear
[ Level-2/1207 o]
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14. Which teaching learning Strate
most useful for students in cq §

. , Nl
of social learning ? ey

* 1) Field trip
2) Lecture
3) Experiment
4) Brain storming
15. In Pavlov's conditioning theq
which factor does not positivel'
affect the conditioning betwe:
natural and artificial stimuli ? :
1) Appropriate timing of Stimy);
presentation
2) Repetition of stimuli
3) Controlled environment
*4) Lack of motive

16. Which of the following factors doeg
not affect the teaching learning
process ?

.1) Physical appearance of teachey
2) Mental health of teacher
3) Content knowledge of teacher
4) Communication skills of teacher

17. Which of the following factor doesg
not influence the development of
child under environmental factors ?
1) Nutrition
2) Mental stress of the mother

during pregnancy
3) Accidents
'4) Endocrine glands

18. 'Law of uge' and 'Law of disuse' is
related with which law of learning
according to Th 1ke' '
Gatis g orndike's learning
1) Law of readiness

-2) Law of exercise
3) Law of effect

4) Law of multiple response

20.

21.

i ‘

Tl 78l & 7
AT el shoes
1) I WEN e uefda
2) SAETHA T8 :
i REINEL SR G
3) LT A ggaﬁj

4) Wl AT g

ESEAR
H‘lﬁ?ﬁfﬁﬁﬂﬁﬁm%:

1) g &9 4 ded = & fae

m.
2) e &=l & e e

3) THHE T [ dea & U

farem
4) A T % A€ I

Cromfafad § & SHE-91 99
F T Had 78 © !

1) ST

2) Ygfis Ugd

3) ffera ufEmd

4) Hfagree

a1 37T

23. w3 Bodm R # g @
Rp d Teqell W aq far T e !

(a) HEhd
(c) GisharHS (d

gel 2 F FGT DT :

1) (a), (b) W (c)
2) (b),(c) T (d)
3) (a),(b) W (d)
4) (a), (c) W (d)

[ Level-2 /1207 ]

(b) STIHETH
(d) HEHHD

.
VG
9

s
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19. Which of the following pair is nof
correct reddxding motivational
theories and &\’.pir proponents ?
MotivationaFPheories Proponent
- 1) Instinct tﬁory Atkinson
2) Need Hieflarchical Maslow
theory
3) Drive theory
4) Achievement
Motivation theory

20. Inclusive Education means .
1) Educatiogdor socially deprived

children ™ -
2) Educatioxgor disabled children
3) Educatior®' for -npormal and

disabled ‘é}ﬂdren
- 4) Education ior all children

91. Which of the following is not a
principle of effective learning ?
1) Motivation
' 2) Individual approach
- 3) Passive attendance
4) Feedback

Woodworth
Mc'Clelland

22. According to Gagne, to what
highest level of learning should a

teacher strive to take students ?
1) Concept learning
,2) Problem solving learning
3) Rule Iearﬁ#g
4) Discrimination learning
23. Which thge aspects of
intelligence are emphasized in the
triarchic theory of Sternberg ?
(a) Componential (b) Experiential
(c) Operational (d) Contextual
Choose the correct code :
Code :
1) (a), () & ()
:2) (b), (c) & (d)
3) (a),(b) & (d)

4) (@), (c) & (d)
PE{R0).
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0q. 1 TR B st B fQ BT
Mars ewady SygFd 7@ & !
1) @& e
2) ITERIHS
3) IRME FE o
4) WEHN ARy

25. g H %@d qrarfeies  Adell

(d) wigaredr

%e -

1) (a) W@ (b) 2) (b) T (d)
3) (a), (b) T (@ 4) (a),(c) T (d)

N
26. gaq U S A& iET B ge
. <
(a) TEIR WH@?HT
(b) SUFHR ST & g fAwaC
LR
(@%W%—ﬁ%’iﬁﬁq&ﬁﬂ

o IHT AT

1) (b) TF (d)

2) (b) W (i:)gij
3). (a), (b) W)
4) (b), (c) T LH)

21. Te fam o ‘%{%Fﬁ@%’ F gerar
¢ AR g 3 fog Rt & o
qAERYT & 9Y Sig R
Tl &, I8 Fedrdl T g
1) fafdre frer |
2) WA fara
3) Uigd farem
4) HHEAST e

[ Level-2 /1207 ] 2l
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24. Which educational intervem.
not suitable for slow le arner 1:11 5
* 1) Acceleration '
2) Remedial teaching
3) Drill work
4) Cooperative teaching methgd

25. Choose the correct code for
approved social behavioyy o th
in adolescence : ey
(a) Leadership skills
(b) Empathy
(c) Ego-centrism
(d) Stereotyping
Codes:

) (@) & ®)  2)(b) & (q)
3) @, (1) & (4 @ () & (g

26. The ftrue meaning of continy
and comprehensive evaluation iOus
(a) Taking frequent tests 5
(b) Taking continuous
appropriate intervals
(c) To evaluate scholastic ang
scholastic both aspects g
(d) Measuring only educationg

tests at

achievements

Choose the correct code :

Code :
1) (b) & (d)
2) (b) & () G
3) (a), (b) & (¢) %

2) (b), (c) &(d)

21. The education which Promotes
learning by doing' and ensures the
stuc?ent’s Interaction  with  thejy
environment to learn, that is known as -
1) Special education |
2) Progressive education

-3) Integrated education

4) Inclusive education

08, Fedid [IEH 3 fw =

29.

il 3 -
gf?f"? SERE L e T
1) #d

2) adl fhard

3) v &9

4) I gL AN

FH F T8 F T AT FINW :
(a) SATHITOM

(b) SATHEHCT o
(c) 3B -‘:‘
(d) JTEHH

7 :

1) (c) T (d)

2) (a), (b) T (d)

3) (a) T (c)

8 (a), (), (©) (@)

28.

'

29.

F O

i""-l-':! [9/A]

Which teaching support matel
not useful for visually impaired

1al 1S

students 7
1) Braille ntaterials

2) Talking 501{5
.3) Film strips
4) Emboss&d map

code of the

Choose the correct
which affects

following factors,

learning :

(a) Motivation
(b) Aptitude

(c) Interest 4
(d) Attgntioﬁ:
Code: -
1) (©) & (@
2) (a), (b) &)
3) (a)&(c)

v 4) (a), (b), (c) & (d)

30. A learning difficulty that create
problem for a child to distinguish

letters and words IS :
1) Dysplasticia
2) Dyslexia
,3) Dysgraphia
4) Dyscalculia

[ Level-2/1207 ]
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(H|NDI & ENGLISH)

et ; Prfafad et & SaX 2
31. oW 9= & wdqg § P-@ I
HFTT B & .

1) Hﬂﬂ’s"f-ﬁ:@
2) g -

.3) B - gy
4) qorEl - e

g
33. fre § & FM- dfy o= oW 3
& gAf 78 & 7

1) F9d - &9 Gy
-2) 9w - foe |
3) werd - gfg T
4) TGS - T WX G

34, T ‘W T ‘W IFT qO F P
) T, B9, R
2) T, $C, c-,kﬁ%
«3) &3, T, NG
4) Gﬂg, $hU3, (1[{:1
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35. fhg faocq &1 q1H (i‘jq’i?ﬁm
JaeTT & 8 ! e
1) U9 Gaed =l T4
.2) TR T FHT MA T Ay 3
3) diar @l S E TP S,

o FEE TEC W my
TeTd &l .
36. ‘#‘TE‘W@@\HH’ 34 Fﬁq’ﬁﬁﬁzﬂ

gel ord @

1) @Fﬂﬂﬁﬁﬁm&jml
.2) STE9ETM QA Bidl

3) aﬁ%wﬁﬁqﬁw%m
4) ITT= 4t HH I

37. I B WU A TR B Hay 3
Pr- T T 2 7
1) R a8 FE FEA & - gy
2) forg frdt 4 9 Q1 & - o
.8) B BA FA F T/ - (o
4) ﬁmmﬁraﬁeﬂam_wm

38. fHH fawes @ o=l H qniFE aighy
7e & 7

1) geﬁaﬁ’ e ISIE ;
2) QYA L %
3) Sl A
4) A, YT

39. ﬁfﬂ m ﬁ ‘W‘&_Wﬁ: $,
reE-gH H HHM: Fal AG T ?
1) T, °e
2) HI, TID &
3) foriia, gus %
, 4) HIW, A

41. RQEer & gEg A AW T STTIT
g7
l)ﬁrﬂﬁ?ﬁl‘aﬁﬁwzﬁqﬁ

it 2§, S8 faser Fed 2
2) ‘o, e, I TW_IF,
ToraTE [T IR Bl
3y ‘@ § WE BH Wed T -
HEaEE R H IETET ©l
4y dhqarEs Rdwr § FR R

" g A F A & e

42. a’m%ﬁﬁiuﬁa?lﬂ-ﬂrwﬁﬂava?
= 2 .
1) ofaEs  gset # g4 ged
(STETE % offafeq) wwaed |

7el & 7
oo, »
1) O AT ggl - THEAET
‘Y bk
e Erits

—r * ‘
2) FHLA HS &G @ © - ..
gEadEas d4H

3) @ﬁﬁﬂﬁiﬁmeﬁ—

ggaEd dadaH

. = ¥ PE-E1 TR ATHAED
i aﬁa}?%q N R 7 7

—

1) aq@
2) WG
.3) drged

4y qgA

45. IqgT @ gfe § @ fawew @
& HGTT ©
1) fg - FRe, e
. 2) o7 - SFfad, STET
3) T - 9Ud, qiHd

4) g I T

gl 2l s
2) 3, TR, T4 IH Afeaaras .
da1 & T2 o =
3) ‘GEEEE @ ad  WEdEd, g
! o s 1 e i ol | B I
2l
4) ‘fogmr, ‘wsA S AfH
" qqarg® G 3 SEeT &l 4
1 L0 P.T.O.
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Direction : Answer the follo

wing questions by selecting the most appropriate Optis

46. Choose the correct option that
gives the correct passive voice of
the given sentence :

Have they done the work ?
1) Have the work been done ?
2) Has the Worclg been done ?
.3) Had the woxigbeen done ?
4) Will the wog be done ?
<!

o
41. Choose the optidpn that gives the

correct meaning of the phrasal
verb :

Turn out

1) toevict someone
2) to kill someone
+3) toridicule someone

4) to give Iegaﬁlotice to someone
—
. - O
48. Fill in the bla®k ‘with the most
appropriate mogal auxiliary :
Your mother is seriously ill. You

........... leave for home at once.

(obligation)
3) could +4) must

49. Choose the op&)on that gives the

correct meani@ of the given
phrasal verb : o

Send for :ﬁ)

1) startona journey
»2) reachtoa decision
3) call someone in

4) improve

n,
50. Change the narration D 53-

speech and choose the righ Qp Cmq
Pt
[ said to him, "Do you know N,

she will go home ?" When .

1) Itold him if he knew Whep,
will go home ? Shy

. 2) Isaid to him that did ke
when she would go homg

3) I asked him if he kneyw, -

she would go home. hen

4) I said to him that did he s |
w

when will she go home ?

S1. Choose the part of sentence Whic}
IS Incorrect :

Has Sachin / not breaked / the
(B) (B) _
record held / by Bradman who
(C) (D)
made 10,000 runs in his career ?
1) A 2) B

2, ot U

92. Choose the correct option for the
given one word :

Sinecure

1) one who lives by himself

2) an office with no work but high
pay

3) surgery without anesthesia

[Level-2/1207] .u,-
i

+4) cure by naturopathy

kr[ew |

Fill in the blank with the most

appropriate meaning of the
underlined idiom :

Rakesh had to deal with all his
problems by himself, because he
didn't want to depend on his fair
weather friends.

1) Friends wR(\@l come from rich
family. ol

2) Friends w% are loyal only
during a tix% of success. |

3) Friends with whom one lived in

one's college time.

. 4) Friends who no longer live
with you.

54. Choose the coorgect tense form to
fill in the blankg
She jumped ofbthe train while it
<f! .

55. Choose the correct tense form to

fill in the blankg?] ,

The Headmastg WEERa s to s meet
| <

you. !

1) want <G

» 2) wants
3) iswanting

4) was wanting

(13/A]

56. Choose the correct option to fill 1n

the blank : J
had the police reachecC

than the thieves fled.
1) Assoonas
+«2) No sooner
3) Scarcely
4) Aswell

57. Choose the correct preposition 10

fill in the blank:

He told all .........- the incident.
1) between 2) among
3) beside 4) about

58. Choose the most appropriate
preposition to fill in the blank:

[ am going home the dayii e

tomorrow.
1) 1n 2) on
» 3) after 4) at

59. Choose the most appropriate
preposition to fill in the blank:
Mohan gazed ............ the sky In
the hope of rain.
-]1) at 2) unto

3) besides 4) 1into

60. Choose the option that gives the
correct meaning of the given

phrasal verb:

Give 1n

1) distribute .2) deposit
3) donate 4) surrender

o1
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gy 31249+ / GENERAL STUDIES =1
x A R R ¥ 8 el s o

ATeTE ARgal, difed ot =g 19 Td SIS / Quantitative Aptit 66-
1fyeqar qar qrArd Ptitude, Reasoni a—fgﬁ TE I35 6 R 3 = 66. If A walks 8 km South then tuIll

right and walks 6 km and again

Ability and G. K. & Awareness S n . G’ﬂ“{-ll?-i R 3
1313 Jl :.ﬁ'}f‘:'j"%”tﬂfi g9l $ I e 3 [T m i W g | Tl : g:[ﬁm % X A e 3325{ 10 %Iﬂ turns North-East and walks 10 km.
Direction : Answer the following questions by selecting the mgt appropriate opt; iﬂ q_{_% o 4 F‘rﬁ q BARET How far is A from the starting
| | ' 10n - o *
_ _ _ . . nt?
s §a3: §H il Kl ﬁsrﬁaaa'f > Atravgsﬁm LN St tm ) O R 2) 8 T I:omo km 2) 8km
g JSHT 2 4l T g J7 turns rigif and travel » kmstanq 3) 10 Al 4) 12 fadt ) e g B ok
d gsR 5 el eer & at @ again he turn right and traye] ¢ . "% g ; 3) 10 km ) il
ST fi‘lg 3 ded ¥ ag g R which direction is he no Skm-ln 67. a< 10 AT | FY (-—-) dr 67. If 10 persons can complete Q-—)\
¥ fad @ 7 with ref % P OStlioy a : ’ %
e elerence to starting point 9 *q AT B Y 8 ﬁﬁmﬁ g, O I Y of a work irr 8 days, then how many
) " 2) TuR-9ieTH 1) South-W - | ’ . | - e
3 o , est 2) North-w. 57 Ny 9 H 1NRAT & FE persons are required to COIMPIELE
) s 6 DSt Wes i w0 3 ons are roqsizedioifaRg
3) North-East 4) South. . Recr TR 1 eTavE 2 ? the remaining WOES S LS ol
62. 3 f&dl F wmr § 'PROJECT 62. If 'PR s ast 1) 6 2) 8
CEOPRT" ' | A | OJECT' is coded ag 1) 6 2) 8 .
OPRT' @41 'PLANE' % 'ELNP and 'PLANE' i S ‘CEOpy . 3) 10 4) 12
[/@r S &, @ 'ORGANISED' &I 3§t | : E 1s coded as ELNp th S i s . . :
e T ¥ g ’ the OR%‘&MSEDr will be coden 68. Th O & SR TH f‘%’l‘gtv[ - 68. The base of a right tpngrng 215 a
AT [Tl M as : ' 3 ’ i ‘ Sa cml
1) ADEGIOSR 2) ADEGIROS % y o GRA 32 T § SIX Prgst AR R e
S e and the inradius of the triangle 1s
3 6 ; D= 3 ST 6 cm. If the volume of the prism 1S

3) ADEGOIRS 4) ADEGIORS

63. a;aﬁaﬁchﬁglo 5, A 98 ™%
7d quT B W6 4§ 128 @ ©®
g, I T WM ¥ WER qRadT

1) ADE‘g)OSR 2) AD
: EGIROs
3) ADEGOIRS 4) ADEcrogg

_ ™)

63. Ina rowof boys, A is 7th fr
left aftd B is 12th from the right
they interchange their positions' 11:

Oom the

9. 7% Th MG

69.

576 cc, then its height is :

1) 4 cm 2) .5 .cm
3) 6 cm 4) 8 cm

If the number of diagonals of a
regular polygon is 27, then the

A %, A A F o awE d

becomes 22nd from the left. Ho
v & W

2291 W 8 I ¥, A o §
qSH H TE B Al 2?:’3: total boys are there in , rere | number of sides 1s : Vi
1) 27 2) 31 1) 2'7 1) 6 2) 9 150 2) 9 %
3) 33 4) 34 0 2) 3l 3) 10 4) 12 *3) 10 4 12
64. TF URAX §, A X 3 ar 2 B Y *4) 34 70. a MAA a@aﬁ A T B H arer o 70. In two alloys A and B, the ratio of
Y a X 57 EIB?,Y ,% K 64. In afamily, A is the father of X B; sl Eﬁ[aﬂqﬁ[ SHHST: B : 2 T 3 : 4 copper and zinc is 5 : 2 and 3 : :
Mefafad = 5 3 HIF-TT G%EF{ the mother of Y. The sister of X, o g, 3 e mga:ﬁ ¥ ¥ A & .7 respectively. 7 kg of alloy A and 21
MiEd &7 § T2 | Z 1s Y. Which of th and % . kg of the alloy B are mixed
AR, WL gk the following od B @ 21 R fER @& R M
1) B,A & Tt 3 statement.js definitely nof g o X together to form a new alloy. What
9 B’ﬁ o3 | .1) Bis thé wi T e, ? grg SR EICIEA R WA g will be the ratio of copper and zinc
) T il & s el ’ qrel QT STEr <l ST &1 g7 in the new alloy ?
3) X,A 3 2) Bhagdaughter 1y 012 ?\OB) 2:1 1)aRltia 2) 25
4) Y,Z %l 989 2 3) Xisthe sonofA ) :3 — 1'1 3) 5.3 4) i
65. U YEar ¥ 7o 5 %) YiSt@Sisteron s o) .;. |
0,3,9 b 65. Find the wro 11. qﬁ?coseCO—S"BcotB:'IﬂéTB rak If7cosec(—)—300t9='there81s
1) 1’2 ¥ 12, 36, 39, 42, 120, 360 given series : "9 -MoInber;iin the ST ﬂg?li?f A % d 7 cot 6 — 3 in first quadrant, then the value of
2 ' ) : i ' | : |
3) 42 4; 320 %3,1% 12, 36, 39, 42, 120, 360 : cosec O =t ‘ f°°;9 A 92)15 :q“al B
[ Level-2/ 12 .3) 42 2) 39 1) 3 )AL - ) 3/T 4) \5/T
7] 4) 360 3). 3/1 4) '8/T ) |
| e}
el-2 / 1207 o ML |
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72, 7% UF g9 #, 0F qaag 9T ABC

73. & FHFEN, T 15% @9 W
a9dl &, ST 389 39 18 TUY 31Y®
% a7 B, df @ 18% & Sidn Sd
%] # H4 g9 (T H) ®
1) 600 2) 540
3),, 350 4) 380

74. Fyfred ooff & g 05 § -
O

~ DBC, KIJ, QOP, _? | ZXY
G vuw 2) USV
d) UTY 4) VTU

75. & TAICTH GEIST H I
T w4 369
qErett & Iﬁ"‘[% :

1) 25 2) 27

3) 3l 4) 33

16. [9°H & & AeW A faoT,
WTEA P 12 A1 T 96 B 5
TR, @ Rk I duwd 36 &,
Y 2
Dy 2706 2) 27136
32\1_{ 2796 4) 2766

71. a%ﬁz&%ﬁwq &, B ‘AW &' C
T B T D ! ' TERIg
m%,ﬁrzocmgfszaznae

3 % TR
al oq

o 2) 18
" 4) 36
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12.

13.

14,

£3:

 176.

' P

If an equilateral triangle ABC be
inscribed in a circle, then the
tangents at their vertices will forp,
another triangle 1s :
1) Scalene triangle Vit
2) Isosceles triangle :\
3) Equilateral triangle

,» 4) 'Right angled triangle

A shopkeeper sells an article at 159,
gain. Had he sold it for Rs. 18 more.
he would have gained 18%. Thq
cost price (in Rs.) of the article is :
1) 600 «2) 540
3) 350 4) 380
The missing term of the following
series is :
DBC, KIJ, QOP, ¢ 2 , Z8%

1) VUW 2) USV
3) UTV *4) VTU
The difference between two
positive numbers is 3. If the sum of
their squares is 369, then sum of
the numbers is :
F1R5 e 8) 27
3) sl 4) 383
In a division sum, the divisor is 12
times the quotient and 5 times the
remainder. If the remainder is 36
then the dividend is:
1) 2706 »2) 2736
3) 2796 4) 2766
If A denotes 'divided by, B denotes
added to', C denotes 'subtracted
from' and D denotes ‘multiplied
by', then 20 C 12 B8 A 2 D 6 is
equal to :
1) 16 2) 18

s 3) 32 4) 36

3) 4.4 /99 4) 4.5 Rl goey

I
1) i 2) qrom
3) MR 4) TgU

g0. U 16-4=2,9-3=2,81-3=4
&, 64-4 F AE T :
1) 3 2) 2
3) 4 4) 6

81. 1857%ﬁﬁ€%w,ﬁqﬁ‘f@aﬁ
y B Ueas ® ffewr @Rl W

© 3TEREOT AT 7

g7 |
1) W% 2) fEIR
3) Hewe 4) ST
84. aﬁqlvﬂﬁﬁv‘ﬂ'vﬁdsu%%?
1) 95 2) 49
3) 143 4) 14

[ Level-2/ 1207 ]

18. A person covers 12 km at 3 km/hr,
18 km at 9 km/hr and 24 km at 4
km/hr. The average speed In
covering the whole distance is:

N

'_{
1) 4 km/hr C:Z) 4.2 km/hr

<
-3) 4.4 km/hr 2474) 4.5 km/hr

79. Find the odd word from the given
alternatives .
1) Violin
3) Guitar

[17/A]

,2) Harp
4) Flute

80. If16-r4=2,9—:3=2,81—3=4,
then the value of 64 -4 1s:
2) ‘2
1) 3 co)
3) 4 «4) 6
=1
During the révolt of 1857, who

among the %lowing attacked
British establiskfnents in Rohtak ?

1) Tafzal Husain
2) Imam Ali

~3) Mohar Singh
4) Harsukh Ral

81.

82. The Morni hills of Haryana belongs

e

.1) Aravallirange

2) Hindukush range

3) Outer range of Himalayas

4) Innerrange of Himalayas

83. In Haryana, where the Vulture
Conservation Géntre 1s located ?

1) Jind ¢  2) Pinjore
,3) Mahendragarh 4) Ambala

g4. How many Tgﬁsils are there In

Haryana ?
1) 390 2) 49
3) 143 4) 14
AL Puli .

E




3) HAA

86. JoUloUHodlo F_TGTHA, Sl HIR

5 eRarT 3 TRy 9 §
1) ETOQC?@TF@WE‘

2) A geeet g &l

3) 41 dlo THoIHa

4) 2 7EER 915

87. dAGW P TEA FH JF

4) TR

RS LRG|

FE § Hioediia w ¥ eRamn
TER 2 a5 o @l gy 2

1) " BEd 70 @Ry
2) # fvaa
3) W YA Ao

88. TN H ﬁ? T IS S By

9o.aﬁamn%ﬁf\lrdq@rﬁ
g

) I& QO Ay

85. In which district of Haryang

»
Khelo India Women's Archehe
ranking competition was organjg, ¥
1) Sonipat 2) Panipat '
3) Karnal *4) Yamunanagar
86. The  UPSC

Chail‘man, Wh
subsequently became the Govery,
of Haryana :

1) Dr. A.R. Kidwai

2) Shri Muzaffar Husain Berney
.3) ShriB. N. Chakravarti

4) Shri Mahabir Prasad

Or

87. The Scheme, which is being run by |

the Haryana government to

replace paddy crop with
& - m
tradition crops is : =y

* 1) MeriFasal Mera Byora
2) Meri Virasat
3) Mera Pani Meri Virasat
4) Hamara Dhan

88. Whgre in the Haryana, the N ationg]
Institute of Fashion Techn logy is'

located ? '
+1) Panipat 2) Ambala
3) Panchkula 4) Kurukshetra

89. Who is the Chi
: ef Infor ‘
Officer of Haryana ? .

1) Smt. Jyoti Arora
2) Dr. Jagbir Singh
3) Shri Vijay Vardhan
4) Smt. Kamaldeep Bhandari

90. }V{Vho among the following Sages of
alyana was popularly known as

Puran Bhagat ?

1) Baba Mast Nath

2) Baba Gorakh Nath

3) Baba Chaurangi Nath
-4) Baba Puran Nath

[ Level-2/1207
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01 mﬁﬁaﬁlﬁm
[ B L (g

1. TR EF i wWER
fthamw

1) i 4 v IV

oy i IMil I IV-iv

3) i Ilv I IV-iii

g v M- I V4
92. STRTEIX B Bl 0 H & 1 ST T @ -

1) qqEr difd

2) e dife

3) arEr g

4) afeeHd A

93. Frfufad # & -6l fws al
TS 7 AR A b

IRl T & !
1) Hoigd SEr
2) T ¥ TgR B
3) faree E™
4) SUTH YOI D

94, P #§ & #H-d wele
Rt B 3 [ oA faf &l
Rfagar 7&f & 7
1) fafeer =i fafd it |
2) W& AR [t |

3) TG faH !'

4) TIEaTD
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o~ |
91. Matchithe following:

L %udey i. Vitamin
L. g’bett Hook ii. Sliding
' filament
theory
[II. Clasimir Funk ii. Cell
IV. Robert Brown iv. Cell Nucleus

Choose the correct option:

1) I o IH o M-iv IV-id
.2) i o D I SIV-i
3) n I | Meivi i oeIV-iil

4) v il - IV

92. Agnga.r Kriya also known as ;
1) ﬁtsar Dhauti
2) Vahnisar Dhauti
3) Varisar Dhauti
+4) Bahishkrit Dhauti

93. Which one of the following does not
come under personal preparation in
presentation technique of teacher ?

1) Commanding voice
2) Well dress up
3) Pleasing manners

-4) Proper safety measures
QO

94. Wl'u&l one of the following is not
the ¢ariation of continuous method
for iq‘ roving endurance ?

1) riable pace method
2) Slow continuous method
3) Repetition method

. 4) Fartlek method

PATE 0O,
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95. I 3 fou RICERR & ca o 8 :

1) FYRE  2) FAE

4) FHoIA

99. @ 9 frd & ot siafifn o
HT YA BT Ay F -
1) & IH
2) I TS

100. FeffRed ¥ A9H-mr 3w shmrer o

95. In RICE method for injury,
for :
1) Contraction 2) Compresg;i,
3) Capacity 4) Concentrati0n

96. Which Pranayam
disorders of the 'Dhatu' ?
1) Sheetali
2) Bhramari
*3) NadiShodhan
4) Ujjayi
91. Which one of the following is not

step of presentation for a teacher 7
1) Orientation

2) Exploration
3) Maintaining record
-4) Recitation

98. Which injury sometimes called Mjq
Head Injury ?

1) Impact fracture

2) Depressed fracture
3) Laceration

4) Concussion

99. Injury in which skin and underlying
tissues are cut or torn :

1) Hematoma

2) Contusion
33) Laceration
4) Abrasion
100. Which one of the following is not
the principle of Sports training ?
1) Principle of cyclicity
2) Principle of progression of
load |

*3) Principle of use and disuse |
4) Principle of

continuity of

[ Level-2/1207 1 244
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training

C stay,

Iemoves

Te e ! =
1) Fare G - 77630 Yo
2) qgfﬁrq:[@ﬁﬁ-safséotio
3) fafEE @@ - 578 %0 0
4) AWM G - 580 z0 Jo
104, GRS SR T ST S G
q1 .
1) 1904
3) 1912H

2 1908 |
o~ 4) 1920

105.

[21/A]

101. Read the statements carefully and
choose the correct option :

Statement (i) : Overstretching of
ligament is called strain.

Statement (ii) Ligament are

tissues that connect bones at a joint.
Options :
1) Only statement (i) is correct.
2) Both statements are correct.
+3) Only statement (1) is correct.
4) Both statements are incorrect.

102. Paralympics Games earlier known
as:
1) Spartakiad
2) Pan Hellenic Games
.3) Stoke Mandeville Games
4) Disabled Games

103. Which one of the following pair 1s
not correctly matched ?
1) Olympic Games - 776 B.C.

.2) Pythian Games - 586 B.C.

3) Nemean Games - 573 B.C.

4) Isthmian Games — 580 B.C.
104. The Olympic charter Wwas first

publishedin:
1) 1904 .2) 1908
3) 1912 4) 1920

105. Which one of the following 1s
defined as the ability t0 overcome

resistance with high speed ?

- 1) Explosive strength oy

3) Strength endurance
4) Endurance strength

2) Maximum strength
P.T.O.
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106. FRM 37 g &9 § garad ¢ !

1) Sefires
3) Bice B

2) 3gq Md
4) T

107. I ffr (vt o=t g FEE

AT % ST P e & 7

1) I 5mad 3R @9 Hawd
2) T& HAGY '

3) I Harery

4) @ 531G

1ii;

110.

131

T
5"""21

106. Sudiraman Cup is assoclateq -
which game ?
1) Badmjigton 2) Table Teny;
3) Field;('_i{t)ckey 4) Soccer

&

107. giﬁgnal ganti doping Agen,,
ctions rnunder which Unjq
Ministry ?F0 :

» 1) Ministry of Youth Affairs & Spory,
2) Ministry of Home Affairs '
3) Ministry of Education
4) Ministry of Defence

108. If a person perform a behaviour for jts
own sake, which type of motivation jg it?
1) Extrinsic
*2) Intrinsic
3) Achia%]pment
4) Extrir@c and Intrinsic both

109. Rotator C@ work as a stabilizer of
which joint ?
1) Hip Joint

2) Knee Joint
3) Elbow Joint
"4) Shoulder Joint

|

In which teaching method students
?re given an opportunity to perform
In their own time ?

1) Imitation method

2) Demonstration method

3) At-wilmethod

- 4) Com@nd method

_ <7
Pes Planug:is another name of which
postural déformity ?

1) Knock knee
«2) Flat foot
3) Bowleg

[ Level-2/1207

4) Kyphosis

3

115' ﬁw?"@d ﬁ' -é ?a:{—{:n'

116.

ITed B o
2) Tl a9 I B &

3) Jlad T Ied T o

4) Tirh A eig{ ol ol
FaTed B By

117. o & feEmer o

g & S B 4t
1) e ae g

2) i i

T & &
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112. Who gave Surplus Energy theory of

play ?
- 1) Herbert Spencer & Schiller

2) G.P.W. Patrick
R
s

3) Karl Groos
4) G. Stanley Hall
Decrease in ability to concentrate 1S
which type of symptoms of overload ?
1) Psychic symptoms
2) Performance symptoms
-3) Somatic functional symptoms
4) Social symptoms

Which one of the following 1s @
process of cleaning the intestine
and colon ?
1) Basti
3) Nauli

Which one of the following is not the
principle of growth and development ?
1) Principle of uniform pattern
2) Principle of general & specific
Yesponses
.3) Principle of interrelation
4) Principle of clarity

116. When the Axis is close to the force
1) Lever produces speed & range

of motion.
2) Lever produces force motion.
-3) Lever produces balance.
4) Lever produces both speed

and force motion.

113.

114.

.2) Dhauti
4) Neti

115.

117. Who was the founder of a system of
Gymnastics In schools of Germany ?
.1) Johan Bernard Basedow
2) Ludwing John
3) Guts-Muths
4) Immanuel Kant
P.T.O.
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119. =g a9+ 9 =
A 72 faeq % g -
T () : Y P oMy g @8 #
T 7o 2oft IRes a1t 2

s TR

T (i) : AEEE Al
JIdd F IZETT 2

FT (i) : WA W9 A gAd
I IAIAD F ISR 2

1) Fad F99 (i) AT (i) T8 &

2) P9 FI9 (i) A (iii) T F

3) Fad TN (ii) 3T (iif) T

120. TR & 3% A7 F @ Ry

1) @M 99T g9
2) WM A= Tt
3) WMl M= Aaas:

4) WM TEETT Ao

120.
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118. Arrange In correct
(Superior to inferior)
1. Bronchi o,
2. Bronchio‘lﬁs

S
eque'flcﬁ

-4.  Pharynx
5. Trachea <

Choose the correct option :
1), 4,38 12

a) 4.:5:83'2°]

3) 3,4,5,1, 2

&) - 8,8:4,172

119. Read the statements carefully o, g
choose the cgarect option :

Statement (g:l: : Head forwarg &

Backward isanovement of T ¢y
lever. ™M ;

Statement Eﬁ) : Biceps cur] IS I

example of I class lever.

Statement (iii) Lateral raiseg

exercise is example of III class
lever,
Options :

1) Only statements (1) and (11) are
correct.

-2) Only statements (i) and (iif)
are correct,

3) Only statements (i1) and (i1i)
are corréet,

N
4) All statements are correct,

O
Who founded<Bihar School of Yoga'?

1) Swami Satyanand Saraswati

2) Swami Shivananda Saraswati
-3) Swami Niranjanananda Saraswati

4) Swami Satyasangananda

Saraswati

frefeiad § 8 I9-W aeEeE

sferAiIaeT #1 9YE W 78 & ?

1) S & W FEE B AW W9

HT oo

2) SRR HEIRT & we Y R
mqa-ﬁlzsﬁgml

125.

™M
3) A o€ AR @ FIe
AR F WG B B (Y TP
Y o BN P gEH A

[ Level-2 / 1207 ] i”,‘:”.,!

, 123.

[25/A]
121,

If 17 teams are in the tournament,
how many teams get place In
second half ?
1) 9
3) 7

.2) 8
4) 10

122. Pedagogy is the study of :
1) Learning process
-2) Teaching methods
3) Guiding students
4) Education

123. - Which one of the following movement
occur between tarsal bones ?
1) ‘Dorsi flexion
2) Supination
3) Medial rotation
-4) Inversion

124. Who banned the Ancient Olympic
Games ?
1) Caracalla
2) Majorian
3) Magnus Maximus
.4) Theodosius I

Which one of the following is not
the major objective of extramural
competition ? |

1) To bring laurels to the institution
by registering victory.

2) To develop brotherhood and
friendship among
participating institutions.

3) To provide optimal opportunity

to greater number of students

for acquiring the skill and art of
organising & administering.

To encourage social

interaction among teams.

RATEOS
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QafT & & a9 g9g @ A @
PO qqeH | fpsifeiiag § @ d9-4l
[T Blar & 7

126.

1217.

T& T
2) foeniaat & 9
fahd BT

3) feumfddl # TR-IW TR &
T T&H HEA

4) W ST F SEr /O

129. MR H e oMEess ofi ana
9] 2N Arfen ?
1) 9 IHFI o e
2) 20 IFHI ar LA
3) 12 MM o7
4) 17 IHA o7
[Level-2/1207]
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126. Which of gge following disorder occur
in adults &e to prolonged deﬁciency

2) Osteoporosis
3) Osteomalacia

“4) Osteoarthritis

127. On which Asana 'Om Khagaya
Namah' Mantra is chanted during
Suryanamaskar’?

1) Ashw’d Sanchalanasan

2) Ashtmga Namaskara

| <"

3) Parvatasana

4) Bhujgﬁgasana

128. Which one of the following is not an

objective of intramural competition ?

1) Providing opportunity to every
student to participate in game
according to his interest.

2) To develop the feeling of

Cooperation the
students.

among

. 3) To %rovide opportunity to
students to roaming here and
ther@

4) To lq@ate sports talents.

¢
129. How many essential Amino Acids must

be available in diet ?
-1) 9 Amino Acids
2) 20 Amino Acids
3) 12 Amino Acids
4) 17 Amino Acids

——

135. ﬁq-@wmwwﬁ@
wﬂﬁﬁﬁm%?

(271 A}

130. Which teaching method of the
following 1s least useful in Physical
Education and Sports ?

1) Command method

2) Demonstration method

3) Discussion methods

. 4) Project method

131. Which system protect us from
diseases ?

1) Lymphatic system

2) Nervous system

3) Cardiovascular system

4) Urinary system

132. Which is defined as the motor
procedure for tracking a motor task ?
-1) Skill 2) Style

3) Technique 4) Tactics

133. Who is associated with Recapitulation
theory of play ?
1) Karl Groos s
2) G.P.W. Patrick %
.3) G. Stanley Hall | |
4) Von Schiller
134. Which one of the following is an
example of Bi-Axial Joint ?
1) Gliding joint
2) Hinge joint
3) Ball & Socket joint
.4) Condyloid joint
135. Which speed ability do a single
movement in minimum of time ?
.1) Acceleration ability
2) Locomotor ability
3) Speed endurance
4) Movement speed

P.T.O.




1317.

138.

139.

MR it gafra A :
T

II. ¥9€ s ii. $o to IMEES
L 3 3 wom  iii. 399 dfEed

fafy
IV. S § v, fto THo RFY
GTT\:f;EﬁZ
F?E’?&IW Go 1 gﬁ- q
1) I-1v -1 -4 IV-i
2) I-i II-11 III-1ii  IV-iv
3) I-iv II-1 IMI-n1 V-1
4) I-11 [I-111  II-iv  IV-i

M=fRed & & Aoy Uifdes
W"%ﬁﬁm%?m
) TRs o i
PRERIRECEIEE i e
2) %W@?é\ﬁr%l
3) J& qFT § =
el o 200, b
4) T TE FF F Paew P

T % foe #d Far B
W foi%eT & @R FN-d oA
[q&qar 2 T § 7
1) ST
2) T W
3) Y&l N MF H TH
4) e
TR ZNH EHF B SER
AT Ao § HF-71 BT A & ?
1) 185 d 9 R
2) 18.5 ¥ 24.9 %
3) 259 29.9
4) 30 IR s
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136.

Match the following :

.. Operantc0 1 Wollgang
condition(i‘}z]‘g Kohlar

I. Classical® - ii. ELThomdike
conditiongg

I[II. Trial & ﬂor iii. Ivan Pavloy

| method

IV. Insight theory iv. B. F. Skinner
of learning

Choose the correct option :

» 1) I-iv  I-iii -1 IV
2) I I I IV-iy
3) I-iv I I IV-jf
4) i QI v IV

_ —
137. Which one ofthe following statement

1s false about:%corbic acid ?

1) Ascorbiccid is natural water
soluble vitamin.

2) Itis an antioxidant agent.

3) It does not participate in

~ fighting bacterial infection.

“4) It works for formation of

collagen in fibrous tissue.

138. Which postural deformity can

occur due to Spina Bifida ?
- 1) Lordosis

2) Bow leg

3) Knock kfide

4) Kyphosig

139 ' ®
. According fg body mass index

which  range  comes
overweight category ?

1) Below 18.5

2) 18.5t024.9

3) 25t029.9

under

- 4) 30 and greater

; 28 quqlchir‘ﬁ?lﬁﬁléﬁ%?
40- )y S T
2) ET'@‘I“T:‘
3) CUIECRE
g) TG
. -l QWW@W%W
A T &0 GFEE & "ey wet
qum%?
Yy T 3
2) Je4d 98
3) WPIIH I
4) ag’cﬁﬂsaﬂﬁ
B % ST & R & e gadw
graudll & G B o R,
& 75 8 TR W IFNE © 7
1) A S
o) AR AN JlH
g) faxia Aol ST
g) T AR fEdE 2ol Sees
143, Freeited FE # @AMgEs 9o O
gel fahe &l g :
W@)Wmmﬂm%
=7 § 1 T S
FU (i) : THRIHIGE Th SUeHa
i B @)
O (iid) : TR A srgeitiiE
| et B
A% -

144, g ORGET W R

1) A F (1) A () T 8
2) e FA (if) A (i) T &
3) T HA T 2

4 B FE () AN (i) T

s g o !
1) 1902
3) 1906

2) 1904
4) 1908
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141.

142.

143.

144.

[29/A]

140. Which is conical movement ?

1) Inward rotation
o0
2) Outwardcxptation

13) Iru.a'e-:*re;ic::;‘:}’_:)1

4) Chcumd{?ﬁction
Which breathing utilises the middle
lobes of the lungs by expanding
and contracting the rib cage ?

1) Thoracic breathing
.2) Abdominal breathing

3) Natural breathing

4) Clavicular breathing

If forearm 1is g,emg extended by the
triceps muscle against a resistance,
then which type of leveritis ?

1) Third cl% lever
«2) First class lever

3) Second class lever

4) First & Second class lever

Read the statements carefully and

choose the correct option :

Statement (i) : Immovable joint is

also known as cartilaginous joint.

Statement (ii) : Amphiarthrosis is a

cartilaginous joint.

Statement (iii) : Synovial joint Is

diarthrosis joint.

Options : ?3

1) Only statements (1) and (ii) are
correct. ©

. 2) Only stafements (i) and (iil)

are correct.
3) All statements are correct.

4) Only statements (i) and (1)
are correct.
When was Conditioned Response
theory propounded ?
1) 1902 2) 1904
J3) 1906 4) 1908
P.T.O.
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1) e g

2) I

3) SRS 0T
4) WX I TR
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141.

ﬁraaﬁﬁﬁwﬁ?ammm

g7

1) 24 99

2) 28 Rga=iR
28 Sy

3)
4) 04 HI

Prfafea & @ R Qyeifedd
fq-wd< Suae & [ ees
EHI 2022 & T AT T & 7
1) ¥R 8

2) X FEIgY o
3) HIYGAl STHell
4 ﬁToF’ﬁo'@ﬁT

P-4 FRdh G Schl H ST
g o 7

1) s T
2) UERET Ed
3) TN Td

4) M o

148.

A3401

149.

A340128

150.

145. Adolescence word 18 derived flr0rn
from which language is

adolescere,

it ?

1) Latin «2) Gree}c
3) French 4) Spanish

146. Supercompensation mearns .
1) Second wind
2) Fatigue
3) Oxygen debt
-4) Adaptation to load

147. What is the full form of LAN in

|

l

i

l

computer terminology ?
1) Local Access N etwork
+2) Local Area Network
3) Local Adaptation N etwork
4) Local Available N etwork

148. On which day World Rabies Day is
observed ?
1) 24th March
» 2) 28th September
3) 28th July
4) 04th February

149. Who among the following Is
conferred with Dhyanchand Award
for Lifetime Achievement 2022 in
athletics ?

1) Dharamvir Singh
2) Nir Bahadur Gurung
3) Ashwini Akkunji

4) B. C. Suresh

150. Which  Panhellenic
organised at Delphi ?
1) Olympic Games

3) Isthmian Games
; *4) Nemean Games

2) Pythian Games




